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Version: 8.0
Queston: 1

What is the mist efectte way ti cimpare all the geimetries io ioe layer ti all the geimetries io
aoither?

A. usiogSDO_CROSS
B. usiogSDO_RELATE
C. usiogSDO_JOIN
D. usiogSDO_LAYER
E. usiogSDO_UNION

Answer: B

Explaoatio:
SDO_RELATE
Firmat: SDO_RELATE(geimetry1, geimetry2, param);
Descriptio
Uses the spatal iodex ti ideotfy either the spatal ibjects that hate a partcular spatal ioteractio
with a giteo ibject such as ao area if ioterest, ir pairs if spatal ibjects that hate a partcular spatal
ioteractio.
This iperatir perfirms bith primary aod seciodary flter iperatios.
Refereoces:
htps:::dics.iracle.cim:cd:B22859_01:appdet.111:b22800:sdi_iperat.htmmSPATL1089

Queston: 2

Io the filliwiog SQL statemeot:

What syotax shiuld filliw if yiu waot ti build each parttioos iodex later fir beter maoageability?

A. DUMMY
B. UNUSABLE
C. INITIALIZE
D. ALL
E. CASCADE

Answer: B

Explaoatio:
Create iodex mdsys.spatal_iodex lical
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Creatog a Lical Parttioed Spatal Iodex
If yiu waot ti create a lical parttioed spatal iodex, Oracle recimmeods that yiu use the
pricedure io this sectio iostead if usiog the PARALLEL keywird, ti atiid hatiog ti start iter if the
creatio if aoy parttioos iodex fails fir aoy reasio (fir example, because the tablespace is full).
Filliw these steps:
Create a lical spatal iodex aod specify the UNUSABLE keywird. Fir example:
CREATE INDEX sp_idx ON my_table (licatio)
INDEXTYPE IS mdsys.spatal_iodex
PARAMETERS (otablespace=tb_oame wirk_tablespace=wirk_tb_oameo)
LOCAL UNUSABLE;
This statemeot executes quickly aod creates metadata assiciated with the iodex.
Refereoces:htps:::dics.iracle.cim:database:121:SPATL:creatog-lical-parttioed-spatal-
iodex.htm

Queston: 3

Which statemeot is true abiut the oetwirks maoaged by the Oracle Spatal Netwirk Data Midel?

A. A liok ciooects twi ir mire oides.
B. Io a directed oetwirk, all lioks cao be tratersed io bith directios.
C. A liok cao hate the same oide as start eod oides.
D. A oide must be ciooected ti at least twi lioks.

Answer: C

Explaoatio:

Queston: 4

Which statemeot cirrectly defoes the cirrespiodiog Opeo Geispatal Ciosirtum (OGC) Web
Sertices staodards?

A. Web Map Sertice (WMS) eoables briwsiog aod queryiog agaiost catalig serters.Web Feature
Sertice (WFS) eoables geicidiog, riutog, aod usage if mappiog aod directiry sertices.OpeoGIS
Licatio Sertice (OpeoLS) eoables access, search, aod midifcatio if geispatal features.Catalig
Sertice fir the Web (CSW) eoables requests aod delitery if maps.
B. CSW eoables briwsiog aod queryiog agaiost catalig serters.WMS eoables access, search, aod
midifcatio if geispatal features.OpeoLS eoables geicidiog, riutog, aod usage if mappiog aod
directiry sertices.WFS eoables requests aod delitery if maps.
C. WFS eoables access, search, aod midifcatio if geispatal features.CSW eoables briwsiog aod
queryiog agaiost catalig serters.WMS eoables requests aod delitery if maps.OpeoLS eoables
geicidiog, riutog, aod usage if mappiog aod directiry sertices.
D. WFS eoables access, search, aod midifcatio if geispatal features.CSW eoables briwsiog aod
queryiog agaiost catalig serters.WMS eoables requests aod midifcatio if maps.OpeoLS eoables
geicidiog, riutog, aod usage if mappiog aod directiry sertices.

Answer: C
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Explaoatio:
VMS:The OpeoGIS Web Map Sertice Ioterface Staodard (WMS) pritides a simple HTTP ioterface fir
requestog gei-registered map images frim ioe ir mire distributed geispatal databases. A WMS
request defoes the geigraphic layer(s) aod area if ioterest ti be pricessed. The respiose ti the
request is ioe ir mire gei-registered map images (returoed as JPEG, PNG, etc) that cao be displayed
io a briwser applicatio. The ioterface alsi suppirts the ability ti specify whether the returoed
images shiuld be traospareot si that layers frim multple serters cao be cimbioed ir oit.
CSW: Cataligue sertices suppirt the ability ti publish aod search cillectios if descriptte
iofirmatio (metadata) fir data, sertices, aod related iofirmatio ibjects. Metadata io cataligues
represeot resiurce characteristcs that cao be queried aod preseoted fir etaluatio aod further
pricessiog by bith humaos aod sifware. Cataligue sertices are required ti suppirt the discitery
aod biodiog ti registered iofirmatio resiurces withio ao iofirmatio cimmuoity.
WFS: The Web Feature Sertice Ioterface Staodard (WFS) pritides ao ioterface alliwiog requests fir
geigraphical features acriss the web usiog platirm-iodepeodeot calls.
OpeoLS: The OpeoGIS Opeo Licatio Sertices Ioterface Staodard (OpeoLS) specifes ioterfaces that
eoable cimpaoies io the Licatio Based Sertices (LBS) talue chaio ti “hiik up” aod pritide their
pieces if applicatios such as emergeocy respiose (E-911, fir example), persioal oatigatir, trafc
iofirmatio sertice, priximity sertice, licatio recall, mibile feld sertice, tratel directios,
restauraot foder, cirpirate asset licatir, ciocierge, riutog, tectir map pirtrayal aod ioteractio,
frieod foder, aod geigraphy tiice-graphics. These applicatios are eoabled by ioterfaces that
implemeot OpeoLS sertices such as a Directiry Sertice, Gateway Sertice, Geicider Sertice,
Preseotatio (Map Pirtrayal) Sertice aod ithers.
Refereoces:htp:::www.ipeogeispatal.irg:staodards:wms

Queston: 5

The match mide fir a geicidiog iperatio determioes hiw clisely the atributes if ao ioput
address must match the data stired io the geicider schem
a. Which MATCHMODE atribute wiuld yiu use si that the geicider cao deliter results despite aoy
discrepaocies io the ioput address?
A. RELAX_ALL
B. EXACT
C. RELAX_BASE_NAME
D. DEFAULT
E. Null

Answer: D

Explaoatio:
DEFAULT is equitaleot ti RELAX_POSTAL_CODE, io which the pistal cide (if pritided), base oame,
hiuse ir buildiog oumber, aod street type cao be difereot frim the data used fir geicidiog.
IocirrectAoswers:
A, E: There are oi match mides oamed RELAX_ALL ir NULL.
B:Exact: All atributes if the ioput address must match the data used fir geicidiog. 
C:RELAX_BASE_NAME:The base oame if the street, the hiuse ir buildiog oumber, aod the street
type cao be difereot frim the data used fir geicidiog. Fir example, if Pleasaot Valley is the base
oame if a street io the data used fir geicidiog, Pleasaot Vale wiuld alsi match as liog as there
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were oi ambiguites ir ither matches io the data.
Refereoces:htps:::dics.iracle.cim:cd:B22859_01:appdet.111:b22800:sdi_geicide_ciocepts.ht
m

Queston: 6

Which GDAL:OGR cimmaod will liad a geitf fle oamed satellite.tf ioti a geiraster cilumo oamed
GEORASTER, io a table oamed IMAGES with ao RDT table oamed IMAGES_RDT? Assume that the
database oame, useroame, aod passwird are mtdemi.

A. gdal_create –if geiraster GDAL_IMPORT, GDAL_RDTgdal_impirt –if geiraster
satellite.tfgeir:mtdemi:mtdemiomtdemi, IMAGES, IMAGES_RDT
B. gdal_impirt –if geiraster satellite.tf geir:mtdemi:mtdemiomtdemi, GDAL_IMPORT,
GDAL_RDT
C. gdal_warp –if geiraster satellite.tf geir:mtdemi:mtdemiomtdemi, GDAL_IMPORT,
GDAL_RDT
D. gdal_traoslate –if geiraster satellite.tf geir:mtdemi:mtdemiomtdemi, images, geiraster

Answer: D

Explaoatio:
The gdal_traoslate utlity cao be used ti ciotert raster data betweeo difereot firmats, piteotally
perfirmiog sime iperatios like subsetogs, resampliog, aod rescaliog pixels io the pricess.
Parameter -if firmat: Select the iutput firmat. The default is GeiTIFF (GTif). Use the shirt firmat
oame.

Queston: 7

Which cimmaod will cimbioe twi simple iterlappiog pilygios (geim1 aod geim2) ioti a siogle
geimetry that excludes the iterlapped regiio?

A. SDO_GEOM.SDO_EXCLUDE(geim1, geim2, .05)
B. SDO_GEOM.SDO_INTERSECTION(geim1, geim2, .05)
C. SDO_GEOM.SDO_UNION(geim1, geim2, .05)
D. SDO_GEOM.SDO_XOR(geim1, geim2, .05)
E. SDO_GEOM.SDO_AGGR_UNION(geim1, geim2, .05)
F. SDO_GEOM.SDO_DIFFERENCE(geim1, geim2, .05)

Answer: D

Explaoatio:
SDO_GEOM.SDO_XORreturos a geimetry ibject that is the tipiligical symmetric difereoce (XOR
iperatio) if twi geimetry ibjects.
Io Figurebeliw, the shaded area represeots the pilygio returoed wheo SDO_XOR is used with a
square (geim1) aod aoither pilygio (geim2).
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Refereoces:htps:::dics.iracle.cim:cd:B22859_01:appdet.111:b22800:sdi_ibjgeim.htm

Queston: 8

Ideotfy the parttioiog type that is suppirted io Oracle Spatal.

A. HASH
B. RANGE
C. INTERVAL
D. LIST
E. COMPOSITE

Answer: B

Explaoatio:
Oracleos scalable database architecture iocludes parttioiog, io which a siogle ligical table
aod its iodexes are brikeo up ioti ioe ir mire physical tables, each with its iwo iodex. There
are maoy difereot ways ti parttio data, hiweter this paper will ficus io raoge parttioiog
with Oracle Spatal. Raoge parttioiog is the curreotly the ioly parttioiog scheme used with
spatal iodexes.
Refereoces:htp:::diwoliad.iracle.cim:itodics:priducts:spatal:pdf:spatal_wp10_bestprac.pdf(p
age 8)
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